Cl1-4.1- SoIving X — intercepts Notes Solve for x — intercepts.

y=x%—4x+3 =1 x =3 =3 Factor
y=(x-1)(x-3) -1 + =3 =—4 x — int: Set y equal to zero, (y = 0)
0=((x—-1)(x-3)
Set the brackets equal to zero
x—1=0 x—3=0 seperately
+1 +1 +3 +3
x = +1 x = +3 Solve
(1,0) x—int: (3,0) State x — intercepts (x, 0)
2 A
Draw a graph and label x — intercepts.
(1,4 W(,,() i (@) =0
a=0 b=20
y=2x%—-3x—2 -4 X _ 1 =-4 Factor
y = (2x* - 4x)(+1x - 2) Group
y=2x(x—-2)+1(x—-2) GCF
y=x-2)2x+1) Switch
0=(x-2)(2x+1) x — int: Set y equal to zero, (y = 0)
x—2=0 2x+1=0
+2 +2 -1 -1
x =2 2x _ 1
2 _51 State x — intercepts (x,0)
X = —E
x — int: (2,0) (- 1, 0) Draw a graph and
. -2 label x — intercepts.
y
A
Set the brackets equal to zero
seperately
1 » Solve
—510 (2.00
2 G
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C11-4.1-Solving x — intercepts Notes

Sety = 0 and factor to

y=x?>—-6x+5
0=x*—-6x+5
0=@x-5(x-1)

x—5=0
+5 +5
x=5

+1 +

(5,0) (1,0)

x—1=0

x=1

find x — intercepts.

(x,0)

x intercepts:sety =0

Factor.

Set brackets equal to 0

1 separately and solve.

x — intercepts

_

x int = (1,0)

AN
int = (5,0)

y=2x2+7x+6
0=2x2+7x+6
0=2x2+4x+3x+6
0=2x(x+2)+3(x+2)
0=02x+3)(x+2)

2x+3=0
-3 -3

- *

x int = (—é,O)

3
xint = (_E'O)

)

x+2=0
-2 =2
x=-2

x—2=0
+2 +2
X =2

GCF: —1

Factor.

- %

DN

\ N

x int = (=2,

V. xint = (2,0)

—x2% 4+ 2x
—x?% 4+ 2x

x int = (0,0)

[v5)

x int = (2,0)
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